C:# Comparing Fraction Relative Size Name:

Solve each problem. Answer with the fraction.

1)

2)

3)

4)

5)

6)
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8)
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11)
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13)

14)

15)

3 2
During a baseball game /5 of the players got strikes. During the same game /5 of the
players got homeruns. Which amount is smaller?
1
A jogger isrunning 3/4fuII speed. A car isdriving /4fuII speed. Which is slower?
6 . 9
After ayear Tom had grown /}, of afoot taller and Bianca had grown 77, of afoot taller.
Which is more?
4 1
Which has less people? A football stadium when it is /g full or when it is /g full?
2 1

Which has more water? A swimming pool that is /3 full or one that is /3 full?

S Lo 1 3
Which is heavier? 7y of agram or 7/} of agram?

: 12 5
Which has the greater capacity? ~ /¢ of acup or /3¢ of agallon?

L 1 2
Which is the smaller amount? 7, of adollar or 7, of adollar?

. 2 — 1 .
Which has the lower capacity? /5 of amilliliter or /5 of aliter?

S .5 4
Which is heavier? /g of apound or /g of aton?

2 1

A homedriveway is /3 full. A Wal-Mart parking lot is /3 full. Which has more cars?

S 2 1
Which is shorter? /3 of aday or /3 of an year?

L . 4 . 5
Which isless full? A dump truck that is /g full or one that is /g full?

S 3 . 1 .
Which is shorter? 7, of aninch or /, of amile?

3 4
Katie spent /5 of amonth working on her science fair project while Luke spent /5 of a
day. Which amount is more time?

10.

11

12.

13.

14.

15.
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Ch Comparing Fraction Relative Size Name: Answer Key

Solve each problem. Answer with the fraction. Answers
1) . 3 . . 2 2
During a baseball game /5 of the players got strikes. During the same game /5 of the 1 / 5
players got homeruns. Which amount is smaller? ' 3
. . .3 . .1 L
2 A jogger isrunning 7 full speed. A car isdriving 7, full speed. Which is slower? 2 4
9
3 5 9 3. 12
) After ayear Tom had grown /}, of afoot taller and Bianca had grown 77, of afoot taller. 1
Which is more? 4. 8
4) : : . 4 L1 2
Which has less people? A football stadium when it is /g full or when it is /g full? 5 3
3
. . . . 2 .1
%) Which has more water? A swimming pool that is /3 full or one that is /3 full? 6 10
5
5 L 3 7. 16
) Which is heavier? 7y of agram or 7/} of agram? 1
8. 4
. L 12 5 2
) \Which hasthe greater capacity? /g of acup or /6 of agallon? o .
4
o 1 2
8 Which isthe smaller amount? /, of adollar or 7, of adollar? 10. 8
1
g ) L 11. 3
) Which hasthe lower capacity? /s of amilliliter or /5 of aliter? 2
12. 3
10) . .5 4 4
Which is heavier? /g of apound or /g of aton? L g
3
11) . .2 : .1 . 14. 4
A homedriveway is /3 full. A Wal-Mart parking lot is /3 full. Which has more cars?
3
12 2 1 > >
) Which is shorter? /3 of aday or /3 of an year?
13) _— . 4 . 5
Which isless full? A dump truck that is /g full or one that is /g full?
. 3 . 1 .
19 \Which is shorter? /, of aninch or /, of amile?
15) . 3 _ . . : _ 4
Katie spent /5 of amonth working on her science fair project while Luke spent /5 of a
day. Which amount is more time?
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